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The fzgures in the margin indicate full marks
, " for the questzons :

PART-A (as wmt)

Q. No. 1 (i- m) carries 1 mark each . 1%6 = 6

Q. Nos. 2 (i-vi) carries 2 marks each S 2%6 =12 E
Q. Nos. 3-6 carry 4 marks each- . -~ .-+ '4x4-=16
" Q. No. 7 carries 6 marks o exl= 6 -

- Total = 40
PART-B (ﬂ vsrwt)

Q. 'No. 8 ( i-vi) carries 1 mark each ' 1Ix6= 6

Q. Nos. 9 (i-vi) carries 2 marks each -~ L 2%x6=12
Q. Nos. 10 - 13 carry & marks each- .~ 4x4=16
Q. No. 14 carries 6 marks e 6x1=_6
' o | | Total = 40

Total (PART A & B): 40 +40 =80
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1.. Answer the folloi&ing

PART-A/%-iet

O PR e il 8

()
(ii)

(iii)

(iv)
()

- (vi)

33T ECON

. (C) Indirect taxes - Subsidies .

Define personal dlsposable income,

GiepsTe TR oEE get o

What is the primary objective of commercial bank 2.
AR e e T e .

Net indirect taxes are estimated as —

ﬁe% AT 9 (L2 —

- (a) Indirect taxes + Sub51d1es

AT IR+ AGYY

. (b) Sﬁbsidies - Indifect taxes

.

A - AT 9

@ I} - AYY
(4 Both(b)and(c) .
®) R (o) T

. | (Choose the correct Optlon)‘ o

Give two examples of capital expenditure of the  gov
SR AT T[4 VI 757 il 1.
What type of budget should the government prepare

TR e ST R D e R Mo 2

In order to encourage investment in the economy,
adopt which. of the followmg measures ?

|
(@) Increase cash reserve ratio

TN AR OIS e PRI
() Reduce cash reserve ratio
A9 FIHAF SIS ZI FRA

[2]

1x6=6

ernment budget

durmg mﬂatlon ?°

the centra] b ank Wlll -
' W@%@ﬁﬁmﬁwﬁsﬁﬁ«m @@n @"ww cmc‘m

°T‘TC‘$9I JER

2

(c) Increase bank rate

AT PI@IR - -

~ (d) None of the above

. \G9{F OIS W x . -
' (Choose the correct option)
' (% Row [619 1)
Answer the following : 2x6=12
o PP T i 8 .
(i) A firm produces goods of Rs.500 per year and uses intermediate goods

(i)

of worth Rs.250. The cost of depreciation is Rs.20 per year. Calculate

gross value additiori and net value addition’by the firm. - -

Q4 SO TR 500 TR T Testh T F TR AR 250 5ol R
| am@wmmmﬁm%mwquowiﬂ,mﬁmw
,.qimﬁwwﬁe%mWﬁWW|

OR/SI%4q

What do you understand by the problem of double countmg in the
~° context of national income accounting ?

.@ﬁnw‘ﬁwaﬂ %mﬁmﬂwqﬁm%{w

- Czlculate national income with the following data.

FR SR TTS TSI S SieiAt <5t |

- GDP at market price : Rs.830 crore

" <@ S GDP : Rs.830 G
. Depreciation : Rs.120 crore

' 33TECON

| SRR ¢ 3 Rs.120 (FI6

Net indirect taxes : Rs.70 crore
e oI7arF 39 ¢ Rs.70 IS

Net factor income from abroad : Rs.40 crore

ﬁzmawﬁewvmw Rs40@sﬂ%
‘ ozz/we/ar

- D1fferent1ate between nominal GDP and real GDP.

SIS GDP % & GDP 3 =iy &l |-

131 -
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(zu) Write two ob]ecnves of government budget
5III AT 757 Sy vt |

-(iv) Write two differernces between revenue expenditure and capitai
" expenditure. . . :

Wmmrﬁw iifrvn&l%ﬁ%'«m_

' OR/®%41
. What is revenue receipt ? How'it is different

ez @i Ree LT 2 v oo e

(v) What is deficit demand ? Write one cause of deficit demand. |
qﬁﬁ/ﬂrﬁsﬁmﬁ?iﬂﬁﬂﬁf IR B 3 | -

OR/ g3 .
What are the factors that affect investment demand in an

waﬁﬁaﬁﬁmﬂﬂwmwwﬁm% e.conomy?
(vz') Write two merits of fixed exchange rate. . .o .

: ﬁaﬁﬁw@«mqﬁmﬁm o
‘ _ OR /w134t ' L
Define spot and forward exchange rate, "

: ﬁﬁmwwﬁasmmwm@mwwmu

from capital receipt ?-

Explam the expendrture method of calculatmg natronal income,
m@h R IR I ATSo! amn =M

" OR/997t

Discuss the circular flow of national i mcome ina

ﬁwwﬁf‘—@wﬂawme emwmw

two sector economy

. Discuss the functions of money.

R IR FA o ot

There is a plan to increase national income from

Rs.1500
crore. If MPC = 0.6, theh what should be the Chang Srore to Rs 4000

" the goal? m11»’1Vestment to achieve -

w4 3RS TR SR Rs.1500 G B o1 Rs.400 @qﬁwﬁm
iRl 31 ! IR MPC = 0.6 23, m@m%ﬁgmmﬁﬁm
ﬂﬁm«mﬁﬁmﬂammﬁfae

~

, OR/ WW ‘
‘ What is margrnal propensity to consume (MPC) and margmal propensity to
save (MPS) ? Show that MPC+MPS=1 o 1+142=4
. 2iif%s TeTSiet ekast (MPC) % oSS g RSt (MI’S) e meat @
MPC+MPS—1 I
" Outline how equilibrium exchange rateis determined in free market system.'
a@wmmﬁﬁwmﬁmq zfmmsmﬁnm
| OR /534!
_ Write a note on ‘balance of payment'.
“sifqpte el Raew «f cbmf%mn |
Discuss the working of mvestment multlpher w1th example - 6
Rzt emwquﬂiwmw .
OR/%34t

Explam dragrammatlcally how equilibrium Ievel of employment and income

- is determined in'a two sector economy with the concept of aggregate demand
- and aggregate supply.

Fate SIS AR B % SRS CRTIF eI 72 mmw
mﬁmﬂamﬁmﬁsﬁavﬂﬁﬁm{wmn :

PART-B / ar—w

Answer the followmg ‘ ' R
(i) What is poverty hne ?
- Wik et fre -

(i) Name any two Navaratna industries.

Rl {5 TREY STl /Y Bt | . |
(iii) Who is known as the architect of economic planmng in India ?

SRS S AR et 33 e wt ame

(i w) What do-you understand by jobless growth ?

RN Samm o & g e

() 'Name fwo unconventional sources of energy.

e g&/wmmﬂ@mmm%am

"33TECON o 8] S Contd.
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(vi) Which of the following is a cause of ozone layer depletion ?
07T GPIFIG0] o el G R O e ?
(1) Noise pollution / *{% 2734
(b) Air pollution / 9Ig &34
(c) Water pollution / @& &7
(d) None of the above / S7¥d Goie 92y

(Choose the correct option) '

(%% 45 615 7<)

Answer the following : 2x6=12
o 2ETIRS Ued Al ¢

(i)  Write two objectives behind mfrastructure developmentin India by the
British government during Colonial rule.

AR X7 /TS BRI SIeE S AR S 1] 757 Sty
ferat |
(ii)  Write two objectives of NITI AayOg
NITI e 757 o @il |
OR /<34l
Wrrite fwo factors that necessitates the introduction of economic reform
in India. . '
SIS SRS AHIS TSRO 70/ el il |
(iii) Correctly match the two sides of the following table :
O ORI LAl SIkH SRS (T 8

Country Rank Based on Human Development Index 2022
(| 2022 574 TR CRIA I3 fefee B
India/ TR : 79
China/bH - : 129
Pakistan/ e _ 132
Bangladesh /<1107 161
(iv) Write the full from of AYUSH.
AYUSH g 7744 et o121l |
OR/ G2ar
What do you understand by medical totrism ?
e A5 e & g
33T ECON e [6]

(v)  Write one positive and one negative impact of globalisation in the Indian
economy.
Siged TdHI[o® RRITTT G5! 41 SIS G5y AEE e 52 |

(vi) Write two differences between formal and informal sources of rural

credit.
SIS O SIS ST SR G 757 #A1y =il |
10. Write the features of the Industrial Policy, 1956. « 4
1956 b SRR o (e il |
OR/Z21
. Briefly discuss the problems faced by the Indian agncultuxe sector in pre-
reform period.
ol TS SR R A€ T (I TR AT ST < |
11. Discuss four important causes.of poverty in India. _ 4
 olqedds WRTOIR bIR5! N PR S 31 |
12. Write a note on condition of health infrastructure in India. 4
Wwwﬁmﬁawﬁwaﬁmﬁw |
OR /&<
What is workforce ? Write the causes of low workforce parhmpatmn rate of
female as compared to male. 1+3=4
(e (2 2T1 Pl ATIS o wm@aﬁw (R PR 7t |
13. Write a comparative note on the contribution of agriculture, industry and
service sectors to the respective economies of India, China and Pakistan. 4
©IF, b1 Wi AR eiSCe (it24s 3R, Tisl Wi Gl 18T Se[sH
aa@ﬁa aﬁT W (OI<Al &g 354 |
OR/%[24] -
Briefly describe the path of economic development of China.
e S(fes Tazes v R ot 2 <=1 |
14. How is human developmenta broader term as compared to human capital ?
What are the main problems of human capital formation in India ? 3+3=6
ST TV QS T T <] B 2piors 9 391 27 Sivwe A
Ao S W%m |
OR /21
Discuss how agricultural activities can be diversified.. 6
RS R oAt/ hoasid i AR S <1 |
X
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